



OFFICE OF THE EXECUTIVE ENGINEER  
HORTICULTURE CIVIL DIVISION NO.10  
D.D.A., SCHOOL BLOCK, SHAKARPUR,  
DELHI - 110092  
E-mail: eehcdx@gmail.com

Date: 19/07/2026

No. F.1 (305)2025-2026/EE/HCD-10/A/DDA/623

To,

M/s Bansal Construction Co.  
44, Shanti Kunj, D-3, Church Road  
Vasant Kunj, New Delhi-110070  
M. No. 9810842621 / 9818660029  
E-Mail ID: sumit951@gmail.com

Name of work: M/o Completed Scheme under NA-II (Hort. Zone)  
SH : Carpeting of access road and pitching along the ring / road  
access road at entry of Yamuna Vatika (Opposite Rajghat Bus Depot)  
E-tender ID : 2025\_DDA\_893863\_1  
NIT No. : 25/EE/HCD-10/DDA/2025-2026/Re-Call (10/EE(P)/HCC-3/DDA/2025-26)  
Estimated cost: Rs. 83,99,871/-  
Earnest money: Rs. 1,67,997/-  
Time Allow: 90 Days  
Ref.: P.G. FDR No 794809 dt. 16.02.2026 for Rs.412000/- valid upto  
23.03.2027 of Bank of Maharashtra.

Dear Sir(s),

Your percentage rate tender for the above mentioned work has been accepted on behalf of Delhi Development Authority at your quoted rate subject to following terms & condition:-

1.	Estimated Cost	Rs 8399871/- (Rupees Eighty Three Lakh Ninety Nine Thousand Eight Hundred Seventy One only).
2.	Quoted and accepted rate	@ (-) 31.25% below (Thirty one point two five percent below) on estimated cost.
3.	Quoted amount	Rs. 5774911.31 (Rupees Fifty Seven Lakh Seventy Four Thousand Nine Hundred Eleven and paise Thirty One only)
3.	Accepted Tender Amount	Rs. 5774911.31 (Rupees Fifty Seven Lakh Seventy Four Thousand Nine Hundred Eleven and paise Thirty One only)

Note: The payment of bills shall be released only after verification of FDR of PG.

Time allowed for carrying out the work shall 90 Days only.

You are requested to attend this office for drawing formal agreement along with a non-judicial stamp paper worth Rs.100/- (Rs. One hundred only) which shall be brought by you within 15 days after the date of issue of this letter, failing which the acceptance of the work is likely to be withdrawn.

Please note that the time allowed for carrying out the work as entered in the tender will be reckoned from 10<sup>th</sup> day after the date of issue of this letter to commence the work. You are requested to contact A.E.-II/HCD-10/DDA of this division and start the work immediately.

Thanking you,

Yours faithfully

  
(Sandeep Kushwaha)  
Executive Engineer  
HCD-10/D.D.A.

Copy to:-

1. C.E.(Hort.)/D.D.A.
2. S.E./HCC-3/D.D.A.
3. F.O. to C.E. (Hort.), D.D.A.
4. All EE's/ Hort. Zone/DDA
5. E.E. (QAC)-VI/D.D.A., Vikas Sadan, New Delhi.
6. Sr. A.O./CAU(Hort.)/ D.D.A.
7. AE(QC) to CE(Hort.)/DDA Vikas Minar, New Delhi.
8. Labour Commissioner, 15, Rajpura Road, Delhi
9. Income Tax Office (contractor circle), Ward 38(3), Civic Centre, Minto Road, New Delhi.
10. Secy., DDA Contractor Association (Regd.) Vikas Kuteer, New Delhi.
11. DDA Contractor Welfare Association (Regd) Vikas Kuteer, New Delhi.
12. Secy. DDA Contractor Registration Board, Vikas Minar, New Delhi.
13. T.Y.A.DDA Contractor Association, 11-12, Vir Sawarkar Block, Budh Bazar, Gandhi Nagar, Delhi-31.
14. Delhi Contractor & Building Association (Regd.), 306, Masjid Moth, Rai Sahib Mkt., South Extn. Pt-II, N.D.-49.
15. AE-II and AE-V/HCD-10/D.D.A. with the direction to hand over the site the contractor and ensure timely start the work.
16. A.E.(P)HCD-10/D.D.A.
17. DDA's website.
18. Head Clerk, A.A.O., /HCD-10/D.D.A.
19. Agreement copy.

Executive Engineer  
HCD-10/D.D.A.

Tender Inviting Authority: Delhi Development Authority

Name of Work: M/O completed scheme under NA-II Hort. Zone

SH:- Carpeting of access road and pitching along the ring road/access road at entry of Yamuna Vatika (Opposite Rajghat bus depot).

NIT No: 10/EE(P)/HCC-3/DDA/2025-26

25/EE/HCD-10/DDA/2025-26(Re-call)

Percentage BOQ

Name of the Bidder/ Bidding Firm / Bansal Construction co.

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevant columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

Sl. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT in Words
NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER #	NUMBER #	TEXT #
1	2	3	4	5	6	7
1	Providing and applying tack coat using hot straight run bitumen of grade VG - 10, including heating the bitumen, spraying the bitumen with a mechanically operated spray unit fitted on a bitumen boiler, cleaning and preparing the existing road surface as per specifications : On bituminous surface @ 0.50 Kg / sqm	8137.50	sqm	48.20	392228	INR Three Lakh Ninety Two Thousand Two Hundred & Twenty Eight Only
2	Providing and laying Bituminous concrete using crushed stone aggregates of specified grading, premixed with bituminous binder and filler, transporting the hot mix to work site by tippers, laying with paver finisher equipped with electronic sensor to the required grade, level and alignment and rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction and density as per specification, complete and as per directions of Engineer-in-Charge. 40/50 mm compacted thickness with bitumen of grade VG-30 @ 5.5% (percentage by weight of total mix) and lime filler @ 3% (percentage by weight of Aggregate) prepared in Batch Type Hot Mix Plant of 100-120 TPH capacity.	325.50	cum	12126.20	3947078	INR Thirty Nine Lakh Forty Seven Thousand & Seventy Eight Only

3	Providing and laying design mix cement concrete of M-30 grade, in roads/taxi tracks/ runways, using cement content as per design mix, using coarse sand and graded stone aggregate of 40 mm nominal size in appropriate proportions as per approved & specified design criteria, providing dowel bars with sleeve/ tie bars wherever required, laying at site, spreading and compacting mechanically by using needle and surface vibrators, levelling to required slope/ camber, finishing with required texture, including steel form work with sturdy M.S. channel sections, curing, making provision for contraction/ expansion, construction & longitudinal joints (10 mm wide x 50 mm deep) by groove cutting machine, providing and filling joints with approved joint filler and sealants, complete all as per direction of Engineer-in-charge (Item of joint fillers, sealants, dowel bars with sleeve/ tie bars to be paid separately). Note:- Cement content considered in M-30 is @ 340 kg/cum. Excess/ less cement used as per design mix is payable/ recoverable separately. Cement concrete manufactured in an automatic batching plant(RMC plant), including transportation to the site in a transit mixer.	90.75	cum	11098.45	1007184	INR Ten Lakh Seven Thousand One Hundred & Eighty Four Only
4	Providing and applying 2.5 mm thick road marking strips (retro- reflective) of specified shade/ colour using hot thermoplastic material by fully/ semi automatic thermoplastic paint applicator machine fitted with profile shoe, glass beads dispenser, propane tank heater and profile shoe heater, driven by experienced operator on road surface including cost of material, labour, T&P, cleaning the road surface of all dirt, seals, oil, grease and foreign material etc. complete as per direction of Engineer-in-charge and accordance with applicable specifications.	440.55	sqm	747.80	329443	INR Three Lakh Twenty Nine Thousand Four Hundred & Forty Three Only
5	Supplying and stacking of hard stone (for stone pitching) 22.5 cm thick at site.	209.53	cum	995.85	208660	INR Two Lakh Eight Thousand Six Hundred & Sixty Only
6	Dry stone pitching 22.5 cm thick laid in courses and required profile with hammer dressed stones having no side less than 15 cm, with minimum depth of 20 cm including preparing the bedding surface etc. all complete. (Payment for Stone to be made separately)	931.25	sqm	659.05	613740	INR Six Lakh Thirteen Thousand Seven Hundred & Forty Only
7	Demolishing dry stone pitching manually including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge	502.88	Cum	383.00	192603	INR One Lakh Ninety Two Thousand Six Hundred & Three Only
8	Dry stone pitching 22.5 cm thick laid in courses and required profile with hammer dressed stones having no side less than 15 cm, with minimum depth of 20 cm including preparing the bedding surface etc. all complete. (Old hammer stone for pitching available at site from demolishing.)	2235.00	sqm	659.05	1472977	INR Fourteen Lakh Seventy Two Thousand Nine Hundred & Seventy Seven Only

	9	Taking out existing kerb stones of all types from footpath/ central verge, including removal of mortar etc., disposal of unserviceable material to the dumping ground, for which payment shall be made separately and stacking of serviceable material within 50 metre lead as per direction of Engineer-in-Charge.	150.00	mtr	39.35	5903	INR Five Thousand Nine Hundred & Three Only
	10	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : 1:5:10 (1 cement : 5 coarse sand (Zone-II) derived from natural sources : 10 graded stone aggregate 40 mm nominal size derived from natural sources)	9.00	cum	6518.60	58667	INR Fifty Eight Thousand Six Hundred & Sixty Seven Only
	11	Providing and laying at or near ground level factory made kerb stone of M-25 grade cement concrete in position to the required line, level and curvature, jointed with cement mortar 1:3 (1 cement: 3 coarse sand), including making joints with or without grooves (thickness of joints except at sharp curve shall not to more than 5 mm), including making drainage opening wherever required complete etc. as per direction of Engineer-in-charge (length of finished kerb edging shall be measured to calculate volume for payment). (Precast C.C. kerb stone shall be approved by Engineer-in-charge).	13.50	cum	10117.60	136588	INR One Lakh Thirty Six Thousand Five Hundred & Eighty Eight Only
	12	Laying at or near ground level old kerb stones of all types in position to the required line, level and curvature, jointed with cement mortar 1:3 (1 cement : 3 coarse sand), including making joints with or without grooves (thickness of joints, except at sharp curve, shall not be more than 5 mm), including making drainage opening wherever required etc. complete as per direction of Engineer-in-charge. (Length of finished kerb edging shall be measured for payment). (Old kerb stones shall be supplied by the department freeof cost)	90.00	mtr	109.45	9851	INR Nine Thousand Eight Hundred & Fifty One Only
	13	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture	120.00	sqm	226.25	27150	INR Twenty Seven Thousand One Hundred & Fifty Only
	14	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work	560.00	sqm	102.80	57568	INR Fifty Seven Thousand Five Hundred & Sixty Eight Only
15		Providing and fixing post delineators made of ABS round body fitted with 2 nos 100 mm dia high reflective reflectors and mounted on MS pipe of 65mm dia duly powder coated anti-rust and anti theft steel to be installed as per direction of Engineer-in-charge	25.00	each	904.20	22605	INR Twenty Two Thousand Six Hundred & Five Only

16	Providing and fixing Glow studs of size 100x20 mm made of heavy duty body shall be moulded ASA (Acrylic styrene Acrylonitrile ) or HIP (High impact polystyrene) or ABS having electronically welded micro- prismatic lens with abrasion resistant coating as approved by Engineer in charge. The glow stud shall support a load of 13635 Kg tested in accordance to base. The reflective panels on both sides with surface shall be 35 (+/-) degrees to base. The luminance intensity should be at least 12 cm of reflective area up each side. The studs shall be fixed to the Road as per the specification and shall be tested as described in ASTM I. 809 as recommended in BS. 873 part 4 : 1973. The studs shall be fixed to the Road surface using the adhesive conforming to S, as per procedure recommended by the manufacturer complete and as per direction of Engineer-in-charge.	400.00	each	206.30	82520	INR Eighty Two Thousand Five Hundred & Twenty Only
17	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved	100.00	cum	263.95	26395	INR Twenty Six Thousand Three Hundred & Ninety Five Only
18	Cleaning jungle including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth up to 30 cm measured at a height of 1 m above ground level and removal of rubbish up to a distance of 50 m outside the periphery of the area cleared.	2375.00	Sqm	17.60	41800	INR Forty One Thousand Eight Hundred Only
Total in Figures					8399871.00	INR Eighty Three Lakh Ninety Nine Thousand Eight Hundred & Seventy One Only
Quoted Rate in Figures			Less (-)	31.25%	5774911.31	INR Fifty Seven Lakh Seventy Four Thousand Nine Hundred & Eleven and Paise Thirty One Only
Quoted Rate in Words		INR Fifty Seven Lakh Seventy Four Thousand Nine Hundred and Paise Thirty One Only				

  
 Executive Engineer  
 HCD-10/MDA

3d  
it Br

3/DI

lild

in  
ov

y